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galtFess [gAaH 249 15,100,000 13,800,000 -1,300,000 | At I ol 24 339,366,350 366,142,760 26,776,410
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FEN SR = 2o = 2 (%)
8| 430,659,643 832,569,500 401,909,857
F.'_QAIQ—’r—é),‘EIHS%JI—E—(Z‘D_SO%,AI.510%,
o | Al.Z2TF10%
2NEx2 28,409,920 203,724,030 175,314,110 |  617.09% | 2570 X2 (2 0150% Al & 15% Al 235%)
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- &2 X3 SAXEY, 24169, 01215 II=E
s B Wl e . (ﬁ.'f%qiﬁ'am%& o -
oxas |wxaa ANZpEx2 247,368,240 389,443,480 142,075,240 57.43% rl%ATlﬁOTOEEIHSOle(ﬁﬁ_80£,}\|+1OA>,
ol ol - =22 XZ2(2HI50% Al.£15% Al.Z235%)
HAAEXZ2(AM.E30%, Al.270%)
- dAaEXTZ SAA8Y, 2416Y, 02159 D=
(A.£30% Al.270%)
NEEE2 108,044,240 169,164,280 61,120,040 56.57% %’%ﬁlﬁg—ﬁ‘ﬂﬂm%JI%(EEBO%,AI.E10%,
TN = e E2(2H150% AlLE15% Al 235%)
ol = o3 = REENEE) 800,269 0 -800,269 -100%
- = HACoIY2(522) 820,842 0 -820,842 -100%
AATE |2AaHE 20,0002 x20% * 128
SoXe |xo o |¥2HIERY 15,100,000 13,800,000 -1,300,000 ~8.61% |250,0002 32 122
JIEFGI 20| Xt 2= 2 19,383 45,630 26,247 | 135.41%
- JIEFE 22 130,000 x12&€ = 1,560,000
TS gagel &= 2l - Z 2 A} 50,000%8%*122 = 4,800,000
JIEFE ==& 14,789,899 12,360,000 -2,429,899 -16.43% |- 01232 AL} 2,500210H*20L*128 = 6,00
0,000
rEI= T R = N I PSRI S 0 22,000,000 22,000,000 - [T ismEMBHE AT
S99 oA E=PN - JIEFHIED Lt 2 =2 250,000 x 128
5 o= 55T |uxzzaa 1,690,000 4,903,100 3.213,100| 190.12% |~ 5 8% %22 = 1.903.100
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H ol X : 2/6
A2 AN HIE
AF OH (2
2t e < e E) o B WA
PSS gold & s &N Z 2 (%)
A 430,659,643 832,569,500 401,909,857

=N
- QI HI(AFRI B A 2 = AL HI2HI)100,000
* BERZNN S
- A2 2= 2 AFRH| 100,000%123] = 1,200,00
0

=24 ¥ 5 3,735,401 1,891,520 -1,843,881 -49.36% 602*—;5##% SJ|18,24H| 5,000 x123| = 60,0
- ARDLAHY ADEH (BEH,ZRIH A/SE)
331,520
- @I, JtA OFE A 200,000 x 13| = 200,000

299y 4 H| 0 200,000 200,000 _ |- &&HHI50,000 x 43 = 200,000

- NHEXEE 2 (5466,6764)749,860
- S MHES 2 200,000 x 1 =200,000
- XS XAl 250,000

MAl=S=2 1,664,920 1,892,980 228,060 13.7% |- IS HEZHE 22 50,000
- MR ESBEE 10,780 x 48 = 43,120
- AU AN(EIR), oA B E 2 (X)) 600,000
T soo(ooo x 122 = 3,600,000

- - AHUSXL(2L D& L J|EH) 703,620

b a= sl 4,096,800 4,343,620 246,820 6.02% | _ 1221 Al 40.000
- =XMEZEAAIE 1,051,0008 x 28 AEE
N
2014E (& 8171),2015 (5HEHD]) =X =2 ol E 2t

o121 | =0 222,317,000 238,577,000 16,260,000 7.31% |0 22 BX2XE
- =XNMEUEAKIY 1,051,0008 x 102 292
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AEIAZ AN RS
Ab OH (2
2t e < Ao E o B WA
dE T gold & s gl Z 2 (%)
e Al 430,659,643 832,569,500 401,909,857
- 230U 9%(22X4.5%,3] /\}4.5%)
(BEAXS8Y FE2EE128 EXSXE)
- a);;:%aod o 9| '5.07% (2 2 At3.035%, 8l AL3.0
35%
- HIQUAHABEEO13.1%(2 R XH6.55%, 3
AF6.55%)
(ZRFSQANY ALEH 2128 SA2XS)
- UL B2 U2 6.07%(22X3.035%,3At3.0
35%)
- A QYHAEEEA13.1%(2R2X6.55%, 3
o At6.55%) )
ASIEERE S 24,398,110 28,079,950 3,681,840 15.09% | (BAIXI8Y FEEH2+1289 EX2XI=E)
-3 U+HI AN S M 1.55%(2 2 X+0.65%,3l
AH0.9%)
(BEAXI8Y 2EEE«129 BEX2XS)
-2SHU+HI BN S Y 1.55%(2 2 X+0.65%,3l
AFO.9%)
(ZRFLQANY ALEH 2128 SA2XS)
- 230 U+H NS0 H0.78%(3] AL0.78%)
(ZRFHLQA Y YBE 2+128 SA2XS)
- 220 U+HI NS0 MH0.78% (5] AL0.78%
A HI SRl (fhx%% %lyfglﬁﬁr EE%QXI%) :
20143 (AHEHD]),2015E (5HEHD]) =X JH0l =2t
o Mg
20144 (aHEHD]),2015E (5HEHD|) S X8 J10l =2t
ol Me
20144 (aHE1D]),20154 (5HEHDI) S X8 JHol =2t
=< 68,742,940 73,800,970 5,058,030 7.36% |2 HE )
201443 (AHED]),2015E (5HEHD|) =X JH0l =2t
o Mg
- 52%x80,0009 (2. 25%15//20,0008) XL
N
- SAMSSANIY 230A1/12x28 U E
N
20144 (aHEHD]),2015E (5HEHD]) =X 8 JH0l =2t
g2 Y EAAEEZ 23,908,300 25,684,840 1,776,540 7.43% |Ql B2 2EX 23X =
- SXNMDEAIY FS302A1/12x108 =2
N
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N = L} &
H ol X : 5/6
A2 (AN RIS
AF OH (2
- - B EEE Sof = 2 o = 2 (%) - B
= 430,659,643 832,569,500 401,909,857
-B&EANELZ3ZAHAX13EIIF= 160,000 » 12 =1,9
20,000
-BXHANALZHAX3EIIZ= 2,891,490 12 = 34
697,770
- dAdl+e 50%, 83 L 0ISSAAMUHT100%
- BAANEEZ2AEX13EIIE(34,2802%13/x13H
A H ] 46,407,400 50,648,790 4,241,390 9.14% |)
-8B &AEL3 XL =H 100,000 x 12 =1,200,0
00
- 38,000 x 10 = 380,000
- BXHANELESSEAX13HI|=(34,822R %25 +13H
)
* £ 1,800,000& = 44,8601 FR2XS
- UAXMEE (A X AL M, MY 2
££)150,000 x 1202 = 1,800,000
AbeiH| 2 of *x B 1,800,000%J = 1,700,000& EX2X =
= =3 Ao o - LAXMEUZT(AZE XX A, MAY IS
L2247 804,220 1,800,000 995,780 | 123.82% | =25 oS o m T aon oo
* & 1,800,000& & 55,140% XN2EAX=
- UAXMEE (A X AL M, MY 2
££)150,000 x 12242 = 1,800,000
- A2 &Y, 23U E R LYl 50,000 x 12 =600
o| 2 H| 231,000 600,000 369,000 | 159.74% |.000
TN 0 89.720 89.720 |- AKX HES /IS I 2
-0l X2 24, RS A0 SAHMSS
sg3 0 240,000 240,000 T
HlEH 0 120.000 120.000 _ |- 2 A XHOI=H| 10,000 x 12 = 120,000
= -BXZ0 30l XEte 2
ST 16,172 42,630 06,458 163.6%
olHiHl 2 | oy °
J| Ef Il Ef
ol 5l Bl 0 100,000 100,000 _ | oeil
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H ol X : 6/6
PRIAZ MM HE
AF o0 (2
2t e < e o B WA
= N = 2o = 2 (%)
S 430,659,643 832,569,500 401,909,857
A& 0 22,000,000 22,000,000 - |7 Jls=3AME SR(£Y. Q1 22)
WAEA |, gy |NEBEIST 0 100,000 100,000 N R
Ij =
| - J_!E_z_gﬁ%ﬂil 34;‘:,1;0,000% (E’.ZE%;IL%
Xt &3 S b 0 352,472,980 352,472,980 - |gFEESHC BN 8,302,980(5 8
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